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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHPEHULNDQ� EXNWL� HPSLULV� DSDNDK�
PDQDMHPHQ� ODED� GDSDW�PHPSHQJDUXKL� FRVW� RI� HTXLW\� FDSLWDO GDQ� DSDNDK� VLNOXV�
KLGXS� SHUXVDKDDQ� GDSDW� PHPSHUNXDW� DWDX� PHPSHUOHPDK� KXEXQJDQ� DQWDUD�
PDQDMHPHQ�ODED�GHQJDQ�FRVW�RI�HTXLW\�FDSLWDO��0DQDMHPHQ�/DED�GDODP�SHQHOLWLDQ�
LQL� GLXNXU� GHQJDQ� PHQJJXQDNDQ� SUR[\� GLVFUHWLRQDU\� DFFUXDO�� 6LNOXV� KLGXS�
SHUXVDKDDQ� GLXNXU� GHQJDQ�PHQJJXQDNDQ� SROD� DUXV� NDV� SHUXVDKDDQ� GDQ� FRVW� RI�
HTXLW\�FDSLWDO GLXNXU�PHQJJXQDNDQ�SHQJXNXUDQ�PRGHO�2KOVRQ��������\DQJ�WHODK�
GLPRGLILNDVL�ROHK�XWDPL���������-HQLV�SHQHOLWLDQ�LQL�GLJRORQJNDQ�SDGD�SHQHOLWLDQ�
\DQJ� EHUVLIDW� NDXVDWLI�� 3RSXODVL� GDODP� SHQHOLWLDQ� LQL� DGDODK� SHUXVDKDDQ�
PDQXIDNWXU� \DQJ� WHUGDIWDU� GL� %XUVD� (IHN� ,QGRQHVLD� VHODPD� �� WDKXQ� \DNQL� GDUL�
WDKXQ������VDPSDL�GHQJDQ�WDKXQ�������6HGDQJNDQ�VDPSHO�SHQHOLWLDQ�GLWHQWXNDQ�
GHQJDQ�PHWRGH� SXUSRVLYH VDPSOLQJ� VHKLQJJD� GLSHUROHK� ��� SHUXVDKDDQ� VDPSHO��
-HQLV� GDWD� \DQJ� GLJXQDNDQ EHUXSD� GDWD� VHNXQGHU� \DQJ� GLSHUROHK� GDUL�
ZZZ�LG[�FR�LG�� $QDOLVLV� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� DQDOLVLV�
UHJUHVL� OLQHDU� EHUJDQGD� +DVLO� GDUL� SHQHOLWLDQ� LQL� DGDODK� PDQDMHPHQ� ODED�
EHUSHQJDUXK� SRVLWLI� WLGDN� VLJQLILNDQ� WHUKDGDS� FRVW� RI� HTXLW\� FDSLWDO GDQ� VLNOXV�
KLGXS� SHUXVDKDDQ� WLGDN� PDPSX� PHPSHUNXDW� DWDX� PHPSHUOHPDK� KXEXQJDQ�
PDQDMHPHQ�ODED�GHQJDQ�FRVW�RI�HTXLW\�FDSLWDO��
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